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Children Starts investigation at this stage
1 Early childhood

2. Infancy

3. Late childhood

4. Adolescent age
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Concept of Z.P.D is related to

l. Jerome Bruner

2. Albert Bandura

3. Lev Vygotsky

4. Francis Galton
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Attributing our own undesirable qualities to others is called

1. Projection

2. Rationalization
3. Displacement
4. Compensation
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Branch of Psychology that deals with people and their
interests, opinions, attitudes is called as.

1. General Psychology

2. Personal Psychology

3. Social Psychology

4. Developmental Psychology
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Learners who learn easily through graphs, tables, charts and
Maps are

1. Oral learners

2. Bodily Kinesthetic Learners

3. Auditory learners

4. Visual Learners
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Complex and differentiated changes that occur in the mental
process represents

1. Physical Development

2 Emotional Development

3. Cognitive Development

4 Social Development
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Age of children comes under NCPFECCE
1. 0 — 8 years

2. 3 — 8 years

3. 0 — 5 years

4. 3 — 5 years
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Assessment which is used to determine the extent to which
children achieved learning objectives

1. Assessment for learning
2. Assessment of learning
3. Assessment as learning
4. Assessment by learning
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10.

Find out the correct statement

1.
2.
3.

b

Growth & Development continues throughout life
Development is a part of Growth

There are individual differences in Growth &
Development

Growth is qualitative and Development is quantitative
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Sarala is afraid of her English teacher, due to this she
gradually developed fear towards all English teachers. This is
an example of

1.
2.
3.
4.

Spontaneous Recovery
Higher order Conditioning
Stimulus Discrimination

Stimulus Generalization
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Sushmita learned Vocal music. Now she wants to learn
instrumental music. Here the transfer of learning will be

1.
2.
3.
4.

Positive Transfer
Negative Transfer
Zero Transfer

Bilateral Transfer
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Discovering the ways and means to achieve teaching learning
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objectives occurs at this teaching phase.

1.
2.
3.
4.

Post active phase
Teacher active phase
Pre active phase

Interactive phase

SET LGOS OGN FHOBEIE SAS Srores S8
FBST O ESoRCSE0 Ba SEESES® w08,

1.

~wN

GO WORBYE
GPEJAD BOSE 5F
‘QPCZS 5@§é&§ (L]
RIetV¢] WOEBLS oL}



13.

14.

Exceptional programs made by a student as a result of
Teacher’s expectations is referred as

1. Zeigarnik effect
2. Halo effect

3. Interference effect
4. Pygmalion effect
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MS Office is a

1. Application software

2. Operating system software
3. System software

4. Networking software
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As per RTE Act the Pupil — teacher ratio in the Primary school
should be

PG, TEHO (FFT0 (FEWE FEFTOS” S0EIORS
ATFRO, GF OO NG

1 1:30
2. 1:35
3. 30:1
4 35:1

Giving experiential meaning of Sensory Knowledge is called

1. Metacognition
2. Attitude

3. Memory

4. Perception
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According to Kohlberg reasons for exhibiting moral behaviour
during the level of ‘Conventional Morality’.

1. Avoiding censure by others & Achieving justice

2 Gaining acceptance from others & getting rewards
3. Avoid punishment & getting rewards
4

Gaining acceptance from others & avoiding censure by
the society
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Purpose of ‘Outer speech’ observed in children as per
Vygotsky

1 to communicate with others
2 for self-direction

3. to express their feelings

4 for self-reinforcement
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A memory with a very short retention period is
1. Sensory Memory

2. Short term Memory

3. Long term Memory

4. Rote Memory
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Gopi is having trouble in understanding words and expressing
them. His learning disability is

1. Dyslexia

2. Dysgraphia
3. Dysphasia
4. Dyscalculia
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Teacher is conducting the experiment to assess “the effect of
activity based method on students performance”. Here
independent Variable is

1.
2.
3.
4.

Student’s performance
Teacher’s experiment
Activity based method

Teaching learning material
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Radhika forgot her past due to an accident. This type of
forgetting is called.

1.
2.
3.
4.

Hallucination
Amnesia
Deja Vu

Repression
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Pituitary gland is called master gland because.
1. It is located in the central nervous system

2. Harmones secreted by Pituitary gland regulates the
activities of other glands

3. It coordinates Endocrine system with Nervous system
4. It secretes large quantity of Harmones.
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Cards in Rorschach ink blot test are

1. 5 Black & White, 2 Black & Red, 3 Multi colour
2. 5 Multi colour, 2 Black & Red, 3 Black & White
3. 2 Multi colour, 5 Black & White, 3 Black & Red
4, 5 Black & Red, 3 Multi Colour, 2 Black & White
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Which is not the characteristic of programmed learning

1. Child centered learning
2. Self-paced learning

3. Cooperative learning

4. Immediate reinforcement

S°6§k§;530‘5we§ @2552626 ©5eas0 8.
L domgd Tol B8y egdso
?“05053 3K TIANS

peeplstlef @2;55&:60

L

EEed @56250960

‘Perceptual organization’ takes place in
1. Insightful learning

2. Social learning

3. Conditional learning

4. Trial and Error learning
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Clothes, Home, and Education are
1. Social needs

2. Secondary needs

3. Primary needs

4. Tertiary needs
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The class room observation programme which is being
implemented by the Government of AP in tie up with
World Bank is

1. ICT Tool

2. Education Tool

3. Teach Tool

4. Research Tool
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The Scoring guide that is made for evaluating constructed
response is

1. Blog

2. Opera

3. Web Tool
4. Rubric
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Concepts cannot be formed through

1. Sensory Manipulation
2. Questioning

3. Memorization

4. Generalization
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63.

64.

Identify the grammatically correct sentence.
1. If I will visit London, I will meet you.
2 If I visited London, I will meet you.
3. If I visit London, I will meet you.
4

If I visited London, I meet you.

Blaine and Kurt the piano.

Choose the correct verb form that fits the blank.

1. plays

2 playing

3. is playing
4 play

One of the following terms describes someone who believes in
many Gods:

1. Monotheist
2 Atheist

3. Polytheist
4 Pantheist

Identify the modal verb used for a suggestion:

You  try the new restaurant.
1 would

2. must

3. could

4 should
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68.

Choose the correctly capitalized name of a nationality:
1. french

2. French
3. FRENCH
4 FrenCH

The primary purpose of a dialogue in a story is:

1. to describe settings.

2 to reveal character dress.

3. to advance the story and develop characters.
4 to provide background information.

Choose the sentence in the future perfect continuous tense:

1. She will finish her homework.

2 They will be attending the meeting.

3. I am going to start a new project.

4 He will have been working there for five years by next

month.

Choose the correct form of the verb ‘go’ in the simple past
tense:

1. g0

2 went
3. gone
4 going
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Identify the type of sentence: “How are you feeling today?”
1. Declarative
2 Imperative
3. Interrogative
4

Exclamatory

Although it was raining, we went for a walk.

Identify the correct transformation of the complex sentence
into a compound sentence:

1. It was raining but we went for a walk.

2 We went for a walk because it was raining.
3. We went for a walk, so it was raining.

4 It was raining so we did not go for a walk.

Choose the sentence that contains a main clause:
1. Before leaving for work.

2. Because it was raining heavily.

3. The dog barked loudly.

4 Without any hesitation.

I wanted to buy the laptop, , it was out of my budget.
Choose the option that fits the blank.

1. for example

2 nevertheless

3. SO

4 yet
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Choose the correct sequence of the words in which they occur

in a dictionary.

1.

ii.

iii.

1v.

1
2.
3.
4

encounter
engage
enemy
enough
i, i1, 1v, 1
1, 1ii, 11, iv
1, 11, 111, 1V

v, 1, 1i, iii

Choose the correct spelling of the word.

1.

2.
3.
4

Identify the example where the indefinite article is used with

jubiliant
jubliant
jubilint

jubilant

plurals used as singulars.

1. An amends

2. A dog is faithful

3. A Mr. Smith is on line

4 I need an hundred rupees

She speaks French Spanish.

Choose the correct preposition that fits the blank.
1. aside from

2 because of

3. as well as

4 close to
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80.

The hillsides are lush as late-monsoon flowers begin to appear
— wild balsam, dahlias, begonias and ground orchids.

Choose the synonym that means “lush’.

1. sparse

2 luxuriant
3. scant

4 meagre

“We are aware, always of the pain and horrors of war.”
Choose the antonym of the word “aware”.

1. consicious

2 cognizant
3. ignorant
4

familiar

Choose the correct indirect speech for:
He said, “I am unwell”

1. He told that he is unwell.

2 He said that I was unwell

3. He said that he was unwell
4

He said that I am unwell

[ can’t alone any longer, I’ll have to get help.
Choose the correct phrasal verb to fit the blank.

1. break down

2 carry on
3. break up
4

burn down
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83.

Identify the sentence that contains an error in pronoun case.
1. Just between You and I, I think this plan will work.
2 She and I went to the concert together.

3. This is a problem between them and us.
4

It was he who finished the project first.

Identify the interjection that shows disagreement in the
following sentence.

1. Wow! That’s incredible.

2 Ugh! I can’t believe this is happening.
3. Yah! We did it.

4 Ouch! That hurts.

Read the following passage carefully.

India has a rich tradition of innovation and scientific
achievement. Ancient texts reveal advanced knowledge in
mathematics and astronomy. Today, India is a leader in IT and
space exploration, with milestones like the Mars Orbiter
Mission (Mangalyaan) showcasing its technological prowess.
The blend of historical and contemporary achievements
highlights India’s ongoing contributions to global progress.

Choose the best option that fits the blank.

The Mars Orbiter Mission (Mangalyaan) demonstrates India’s
expertise in

1. medicine

2 space exploration
3. agriculture
4

literature
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Read the following passage carefully.

India has a rich tradition of innovation and scientific
achievement. Ancient texts reveal advanced knowledge in
mathematics and astronomy. Today, India is a leader in IT and
space exploration, with milestones like the Mars Orbiter
Mission (Mangalyaan) showcasing its technological prowess.
The blend of historical and contemporary achievements
highlights India’s ongoing contributions to global progress.

Identify the ancient fields of knowledge mentioned in the
passage.

1. Medicine and architecture.
Mathematics and astronomy

2
3. Art and music
4

Agriculture and engineering

Choose the technique that involves acting out roles to practice
listening and speaking.

1. Tape scripts

2 Typing letters

3. Dictation exercises
4

Role plays

Choose the best option that fits the blank.

Reading is considered as an essential skill for students,
especially because English is a language

1. vernacular
2 library

3. purely local
4

banned
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Identify the method that uses meaningful situations to teach
new language items and vocabulary.

1.

2.
3.
4

Oral Approach
Situational Approach
Direct Method

Grammar Translation Method

Identify a component of the skill of stimulus variation.

1.

2.
3.
4

Using only one tone of voice

Involving students in organising activity based learning
Speaking without pausing

Standing still

Choose the best option that fits the blank.

According to a BBC report (2012) there are more English

speakers in India as
world.

1.

2.
3.
4

than any other country in the

a first language
a second language
a foreign language

an official language

Choose the best option that fits the blank.

The shift in second language teaching insists on changing from
a skill-based approach to a approach.

1.

2
3.
4

knowledge-based
grammar-based
translation-based

literature-based
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Additive inverse of =2 x 3 x 2 is
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Radha bought 100 mangoes and raised the cost by 20%. As the
business is dull she announced 25% discount. Her loss
percentage is
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1 5
2. 8
3. 15
4 10

In the adjacent figure area of Quadrilateral PQRS is (in cm?)
(98, 9008” SEty=o PQRS Ferego (5720.0 o8)
S

7.2
14.4
1.8

Sl




94.

95.

96.

33
1
2. 7
3 3
4 3’

. C 121 .
The decimal number which is equal to 10 is

E 260&)23&) DIPRS00 B3°0F 2602135

110

1. 1.21
2 12.1
3. 1.1
4 0.11

The volume of a cube with side %m length is

1 0.1m’

2 0.01m’
3. 0.00lm’
4 0.0001m’

%ffb. om0 FEY Ko 2.8 PS50 Book), WSHOSE0

1. 0.1 50.20.

2. 0.01%0.2.
3. 0.001 %0.2
4. 0.0001 .2



97.

98.

99.

The dimensions of a rectangle are 16cm x 12cm then the
length of its diagonal (in cm)

2.5 BYISYH0 BY), Foden 1620.0 x 1220. 900
T 5P FEY (0.0.057)

1 15
2 20
3. 24
4 28

Ifa+b=10and a — b =4 then value of b*> — &’ is
a+b=10583» a—b=4e008 b°—a*JenS

1. —40
2. 14
3. 40
4. 0

Rama saves 4000 from her salary. If this is 20% of her salary
then her salary is (in Rs.)

55 &5 $80S° 4000 escr D008, 30 &5 $50S° 20%
2008 &R B0 (SrFroHes’)

1 80000
2. 20000
3. 32000
4 8000



100. Amaravathi express arrives Rajamahendravaram at 9.30PM.
Then 24hrs format of 9.30PM is (in hrs)

@300°58 DD 9.30 PM 5% 0z aro|iSsso SEE 8.
9.30 PM 95005°Q) 247010 57%08° (Kotros)

1 21:30
2. 9:30
3. 22:30
4 (9:30 + 24:00)
101.  Which of the following is TRUE for the data 5, 4, 5,4, 6,5,7, 5
1. Mean = Median
2. Median = Mode
3. Mode = Mean
4. Mean = Mode = Median
u))e ES70330 5, 4, 5, 4, 6, 5, 7, 5% 50200809
58 pelelesbivia
1. OHeR = DGRBS
;SJCSZSKé?éJJ = 2IOTROTE S0

LPIVFEI = diKew

L

BKED = 2lPTVFEID = ;53655Ke§5533

102. Ifx=13+15+17 + 19 then ¥/x is
x=13+15+17+ 19 @a0s Ix Jens
2

1

2. 3
3. 4
4 5



103.

104.

105.

A cycle wheel has 20 spokes in such a way that the angles
between any pair of consecutive spokes are equal. The angle
between a pair of consecutive spokes is

(B8 28 SED DHHO ¢Sy EeTren HITSOM GOSN
2.5 23S (578 20 wHJe0 SI7)00. (P8 S B8 $Ke
eSS §%s0

1. 18°
2. 20°
3. 24°
4. 36°

If the interior angles on the same side of the transversal drawn
on two parallel lines are same then the angles are

BO& BIPOSY Tpop ADS SBRPDH e.8JIS Ko 0S5 een
DIPSPS &3 Eezren

1. 45°, 45°
2. 60°, 60°
3. 90°, 90°
4. 180°, 180°

In a pie chart, for 540 mark the central angle is 360° then the
central angle for 360 marks is

2.8 5 By DG0S’, 540 St 0% SN Soldaw o
360° 0005 360 S8 0% BIPSHS Soldak §%r0 e

l. 270°
2. 240°
3. 195°
4. 120°



106.

107.

108.

109.

|:12xy(9x2 - 16y2 )]— [4xy Gx+ 4y)] =

1. 3x—4y
2 3x—12y
3. Ox—12y
4 Ox—4y

A shop keeper purchased 100 bulbs for 320 each. He sold each
bulb for a profit of 10%. His total gain is (in Rs.)

2.8 COSPearrdndd e.57) 8 & 20 SRS 100 enjoss San.
287 8, R 10% orgfod” ©B ©dIS ST J08o om0
(S5.08°%)

1 220
2. 210
3. 180
4 200

In a rectangle ABCD, AC =2x + 4 and BD = 3x + 1. Then the
value of x

ABCD 2.8 ég 7359535@0. AC=2x+4 30800 BD=3x+1
9003 X eI

= B b=
N LS

When x = -2, the value of a polynomial ax’—3x—7 is 15.
Then a =

X=-2358 ax’—3x—7 TV B0k, IS 15. ©ond a =
L 3

—4

4

B w



110.

111.

112.

44+6+2x5-2+1=

1 2

2. 16
3. 22
4 1.6

A coin is tossed two times. The probability of getting head
both times is

28 S50 Do &y KOS 0529558, BoE SorgosTes AR b}
POLEIEd bozy;Sgé

L
4
2. L
2
3, 3
4
4. 1

The letter with reflection symmetry (both horizontal and
vertical mirror) among the following

55 ($00 TS, HOSYS FRHI0 (FIFOSY OG5 IS
wre) SOR &) wgso

< N = =

1

2.
3.
4



113.

114.

Area of a triangle whose base is 14cm and corresponding
height 7cm is (in cm®)

2P 1420020, T°Q 90D I 700.Q Ko

@20z FFego (57200, ©F)

1. 98
2. 49
3. 28
4 56

Radius of a circle whose diameter is 61.6cm is (in cm)
61.6200.00 TgOI0 Ko S L0 (20.. ©F)

1 3.08
2. 123.2
3. 30.8
4 12.32



115.  Which of the following are related to Cognitive Domain?
a. Comprehension

b. Application

C. Analysis
d. calculate
e. Achieve

808 FIS° 2pae)s B0 FoBSD

a. ©35°¢0

b. JAVET°KO
C. Z)E}Xlsa

d. Kedodoed
e. FPE0T0E
1. a,b,c

2. a,b,d

3. b, c, e

4. c,d, e



116. The statement “Mathematical reasoning is a useful thought,
Mathematical Researches / Observations, Concepts of
Mathematics by generalization of results in Mathematical
circumspections” is stated by

1. NCERT
2. SCERT
3. NCF

4. NCTM (National Council of Teachers of Mathematics)
“Ae3S IS IO 2.5 (PBreSETHS esS°3S, Kedes

285 S / $08oSe, PSS FTIBETE0 T AedS
DRSS béo)c‘éaeﬁoo&.” 9 BOADHLBEJI

1.  NCERT

2 SCERT

3.  NCF

4 NCTM (20055 Ke3es &IEYO500 VOH0)

117. This teaching Method has the principle of “Learning by
Implementing”

1. Problem solving method

2. Deductive method

3. Synthetic method

4. Heuristic method

“es3Er TO° ©LIRN0” &S RS0 Ko S HE8
1. b;i;iP?S D88 RIale

QRIS DES

DO DS
™ (o]

W

@351.6@ DEB

[ev]



118. Steps in “Herbart Lesson plan” among the following are

a. Preparation
b. Procedure
C. Association
d. Expression

€. Application
808 FAS° Y FEPeTE” Foreo

a. DIYNT°0

b. @@cﬁo

C. DOJTo
N

e eﬁéoso‘i)o
1 a,b,c
2. b, c, e
3. a,c,e
4. c,d, e

119. Percentage of marks allotted for “Project works” in formative

assessment

No°YeT S S $000PS” PBE§ Dhen” FTH TeronodsS
I8 © FEO

L 10%

2. 20%

3. 30%

4. 40%



120. According to Activity method “Playing Games” is related to
1. Physical activity
2. Direct experience
3. Mental activity
4. Curricular activity
)85 DED (D560 “eseren estier0” @Y
1. F°HE oo
(DY esodso
23"’§§ ©030

Lol

§a§>§@5 ©0%0



121. If the incident ray makes an angle ‘0’ with the mirror, the
angle of reflection is

DS 8508, SBYeTR8 &g 569007 @S DOUSYS

§%30 Jews
1. 0

2. 90 -6
3. 90 + 6
4. 20

122.  The value of the temperature on Celsius scale is equal to half
of its absolute (kelvin) value. Then that value is

OYDR DY Jo EFAS eI T DU (3H)
&S IeIS” BT HITS0. WO &8 JLS

l. 0°C

2. 546°C
3. 273°C
4. -546°C



123.

124.

Physical change: Change in state : : Chemical change :| »

1. Change in mass

2. Change in energy

3. Change in mass and energy
4. Change in composition
T AESTE): RBS” StHY: 1 BIFAS Sy ?

L (E550°88° 5780)

2. #S srw)
3. (%508 So0ako ¥8S° St
4. Vo050 S8

Study the statement and choose the correct option.
P: Most earthquakes are caused by the movement of
earth’s plates.

Q:  Underground nuclear explosions causes earthquakes.
Both ‘P’ & ‘Q’ correct
Both ‘P’ & ‘Q’ incorrect

‘P’ correct and ‘Q’ incorrect

[S—

Ll

‘P’ incorrect and ‘Q’ correct

BE0505 S8 /S ©)5) JoE0s.

P:  oror grSodren girdole SEOY 59 SoPATon.
Q: e;iwicie) easaoé’.)@i)eamen B0 SPEEIKIHEPOW.

1. ‘P? 30850 ‘Q’ Bokr JDI

2. ‘P” 3083w ‘Q’ To&ks V85
3. ‘PP 05D 83w Q7 DOZ°ED
4. ‘P? 0057 08d5w Q7 /BD



125. The number of prominent stars in Ursa major constellation that
make it appears look like a big ladle.

& ab & SES0R & T D K0Ber EIBoTer T
(D509 SFE© Joy.

1. 7

B wn

5
4
3

126. The connecting tissue present in external ears and tip of nose
is

l. Bone

2. Muscle

3. Areolar tissue
4. Cartilage

2PIREBD $00GH $08), DI 0% VoFBreE Keaereo

1. D0E

2. So&so

3. Dd&Brerd seereo
4.

SSJQ@JQT"?%



127.

128.

Identify the correct pair of traditional irrigation methods

a)

(@)
~

b

Moat b) Sprinkler

Rahat d) Drip

aandb
bandc
candd
aandc

KBS ORI A PO DES© S KHYoS0d

a)
c)

1
2.
3.
4

Ao¥erd b) S $le)ele] ZJCQS@
529 3559 d) é)ociv'fodso
a8 b

b o83 ¢

c 08w d
a 083w ¢

Digestive juice without enzymes is

1.

2.
3.
4.

Saliva

Gastric juice
Pancreatic juice

Bile juice

doBen B BYEvo

1.

Lo

T30
Fatolelerele]
%83535260

2.3@5660



129.

130.

In humans, fertilization occurs in
1. Ovary

2. Uterus

3. Fallopian tube

4. Vagina

5759V, DedESE0 s erKoS® eHKre808.

1. @% 23850

?(c;)r‘o‘oﬁoo
IS*Ho0Hs o
R0

W N

The gaseous pollutants release from petroleum refineries are

a) Sulphur dioxide b) Chlorofluorocarbons
c) Nitrogen dioxide d) Carbon dioxide

1. aand b

2. bandc

3. candd

4. aand ¢

TI0HHE So°yore Hod 365365@6535 DAICOS FPOI0HEW
a) éoq)g ¢ =56 b) §°5°F5 sg)Sew

)’ & &6 d) sGS g e5)6

1. a8 b

2. bsosswc
3. c 08w d
4. asdew ¢



131. An agricultural officer helps farmers by
1. Sanctioning loan
2. Issuing passbook
3. Providing seeds & tools
4. Supplying power
;5&5@050 Q50 L3IFOM° BHOE DIPANDETTD

1. 0 5002y BOHEO oxoe
TR DT IO T

o)

AT, Zai);ﬁaoazc% 9080 EO CSZSG"

L

3365355 DEDo° B0 oo

132. Identify the set of natural reasons for migration.
1.  Flood, cyclone, earthquake
2. Flood, transfer, poverty
Transfer, cyclone, earthquake

4. Poverty, transfer, earthquake

SOV DI S°CETO DI HGoB0s.
1. SBL, P, APEOD0

558, 2908, H5d%0
2309, e, 2rEoNo
55850, 2288, girsono

W N



133.  Wyra river is the tributary of this river

1. Godavari

2. Yamuna

3. Mahanadi

4. River Krishna

00 I8 Bs SO &I

Qe

1. RPoes8
2. O030°
3. NIEIE
4, §°)ig‘6&

134. The foreign traveller who visited Motupalli port during the
11" century was

1. Marco Polo

2. Domingo paes

3. Fernando Nuniz

4. Barbosa

115 $org08" 36009 PG HoSNODS B A5 @%e
L 58 FS°

2. EDOATHD

3. o08° Syl

4, AR



135.

136.

Identify the correct statement in connection with the chenchus
in Andhra Pradesh

The chenchus are a tribal group

They are the inhabitants of the Nallamala forest area
since ancient times.

They are traditionally hunters

They spread over the districts of Vizianagaram,
Visakhapatnam, East Godavari in Andhra Pradesh

OGBS’ BoHO®H V0ROHON TP TSN KY0B0E.

a.

b.

Ll A .

Do 2.8 Adesd JDLa°I°0
T IS 00 H06 QIO BLIFOE D0
T FOPEOLEOR Do

T OGBS’ DICDSKLO, DTPHEEO,
SrE) Aorsd 2erd IZBoTD.

a,c,d
b, c,d
a, b, c
a,b,c,d

Rythu Bazars were launched in our state in
B 2l I THOS” (FB0HODS VoSBYTO
o ™

1
2.
3.
4

1996
1997
1998
1999



137.

138.

Find out an example for the violation of the ‘Right to
Freedom’

1. 13 years old child is working in a factory

2. A politician does not allow labours from other states to
work in his state

3. Kerala Government does not give permission to open a
Telugu medium school in Kerala

4. Denial of promotion in the defense force on the grounds
of being a woman

DRSO T, GYOWSDH GOrSEaS K80w0s.
1. 13 BOSSYo0 ereots 2.8 §c°&mdoe5€ DBAEO

2. 25 olg oadch SaHH 388 T SHYHOW
S35 (RS’ DATAAIE Fso

3. SOV (3200 SEES Beols SrE5 FETOD
BESEVE ©HAIIEFSE0

4. WY &3 S80S GE wored’ GO
QT°E80E0

“Trisamudradheeswara” was the title of this king
1. Gauthamiputra Satakarni

2. Sri Krishnadevaraya

3. Samudragupta

4. Ashoka Chakravarthi

BRSNETRRT” &I D Ko oves

1. TSDYS TS5
&SRB sorasnen
DZ0(ESHIYE

Lol

T IS



139. ‘Buland Darwaza’ was built by
1. [Itutmish

2. Babur

3. Akbar

4. Shajahan

‘20008 SogE’ o ABJODIH
1. 361N

ereab

@%5

Aot

W

140. The number of people taken as the standard to calculate
Birth rate is

BST0 Ben B 0TS (FITIEON FWI wTET DoPs

1 10

2. 100

3. 1000
4 10000



141.

142.

“Gulamgiri” is the book written by Jyothirao Phule. The
meaning of the word “Gulamgiri” is

1.
2.
3.
4.

Domination
Untouchability
Discrimination

Slavery

S'B0S JoB 070 OG0 THeroRY’, HoeroRd’ HerdS ego

1.

2
3.
4

6@59550
€90820°0e8:50
3335§e§

wbééoso

Identify the mismatched pair

1
2
3.
4

Nandi Timmana — Parijathapaharanam
Ramaraja Bhushana — Vasu Charitra
Dhurjati — Harikathasaram

Tenali Ramakrishna — Panduranga Mahatyam

RIS TSN O CloToInolec

1.

2
3.
4

S08 B - rlelsila o telartel
T°00°es PR - S0

ErE8 - OEETITO

B3O T HERNE - FOLOTOK TS0



143. In 1757, the Bobbili war was held in between
1. Bobbili Rajas — Gajapathi Rajas
2. Vijayanagar Rajas — Reddi Rajas
3. Vijayanagar Rajas — Gajapathi Rajas
4. Bobbili Rajas — Vijayanagar Rajas
17578° S0 diogo 0 oS5 #OR0R.

1. SO oreren - Kwdd oreren
2. BEANIHY Trered - TG Toered
3. WADIKE Oreren - KWHY oreren
4. SO oreren - JBCHIKE Trered

144. The area not under the British rule in 1857 was

1. Lucknow
2. Benaras

3. Hyderabad
4. Bombay

1857 &8 DBR 38 $0FeS (Acnhole) &° B [Froso

1. o8}

BeSD

soerd

W

EANOT ANV



145.

146.

A teacher who doesn’t have knowledge of goals will never be
able to find his way and direction and never reach his target —
said by

1. B.D. Bhatia

2. J.K. Sood
3. John Dewey
4. Carlile

OFFO MHBONS S0 BEFS &I eridintd 85 OF
Des®, ;asovoﬁo:beSG BOAHE IYRS KI5 358 - @
5330)(6&

1. 8.6, a0

BB o6

wscisagoao

Ll

S90S
&2

Reading science Journals, writing science articles and
promoting scientific knowledge in the society belongs to
this scientific value

1. Scientific Attitudes value

2. Proper use of leisure time value
3. Moral value

4. Disciplinary value

2R B SE5E0, PRY FFIen 0050, Srwod”
@@oﬁo R DOFOROBEO. He LI, LOIDH
D00

L Q00 390 Jenss
AT TR SEFITTH IS
JIBE e

Lo

S5085Es e



147. Students are taken around in the school surroundings to give
them hands-on experience on a concept is termed as

1. Science fair
2. Field trip

3. Picnic

4. Auditorium

ATFRODH 2.8 Fe°godR) K00 (PSGTSES0 SOR0BEIS
ATGRO® FEFO DOV BWED IHERY 3o
9083°0.

L Dl (365
EQ RIS
DS

W

es&¢5°80%0

148. The following is not a ‘common aim’ of Social Science

1. To explain human society

2. Training in desirable pattern of conduct
3. To promote national integration

4. To promote world peace

808 IE° 0T FKo BwY), FTTer SN0’ S
1. INDLININ bzérw“f%) ?{J@Q BN

2. SOSAS 3o D0DEDH Bger )

3. wrdoD SPESES DoFoBoH

4. KT8 D)



149.

150.

“Assessment is the process of finding out how well the
education objectives have been achieved” was stated by

1. Binning & Binning
2. Billard

3. Ralph Tyler

4. Kilpatrick

ATy OFEe 0B IEH FHOBE0 BOROS” BDI
TSI $xrergo8N0” - AEDODS &>

1 BIoK & BIoA
of

& Beb
538

W N

Students understanding their duties and rights and exercising

their right to vote, are among these values
1. Utilitarian Values

2. Creative Values

3. Disciplinary Values

4. Intellectual Values

gL BS IO, ToE) O BLIE'SEO, L. T

AIBTAOE SE0 93 B2 JLVIOKH ToLHL@0w.
1. GIRTAT® QOIS

bo)asm’ég VIV

E08KET Jensew

~wN

z3"’§§ RISUINISH)



